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1- Evaluation the Replacement of the Turning Gear To Keep Rotor Balance
(Accepted). International Science Congress Association

2- Evaluation of the Replacement of the Turning Gear to keep rotor balance before
(after) the turbine running up (down). Under Review in Iranian Journal of Electrical

and Electronic Engineering.
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Time [ms] Flux Linkage (Field) [Wb] Flux Linkage (PhaseA) [Whb]

0 493.9379184 -21.9174313
0.5 493.941343 -21.66706151
1 493.9414345 -20.89977237
15 493.9450553 -19.62019325
2 493.9500456 -17.86984797
25 493.9485354 -15.67909824
3 493.9476661 -13.08564611
35 493.9446277 -10.14375322
4 493.9446049 -6.917866672
4.5 493.947139 -3.501496234
5 493.9464897 -0.0068079
5.5 493.9476688 3.488705839
6 493.9474467 6.908269089
6.5 493.9464801 10.13603271
7 493.9463683 13.07866124
7.5 493.9427266 15.67306414
8 493.9404832 17.86391138
8.5 493.9355354 19.61480314
9 493.9342805 20.8955171
9.5 493.9373299 21.66419278
10 493.9382929 21.91745194
10.5 493.9413519 21.66706182
11 493.9414371 20.8997725
115 493.9450553 19.62019325
12 493.9500456 17.86984797
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17 493.9463683 -13.07866124
17.5 493.9427266 -15.67306414
18 493.9404832 -17.86391138
18.5 493.9355354 -19.61480314
19 493.9342805 -20.8955171
195 493.9373299 -21.66419278
20 493.9382929 -21.91745194
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Abstract:

We know that each Unit has an small motor called the Turning Gear that its duty is
turning the shaft slowly for a period of time to avoid shaft distortion. Now suppose that this
motor was damaged due to important reasons such as the economic reason cannot be
provided a similar case for the unit. As a result, we should think about other methods to
turn the unit slowly. This thesis after introducing the problem, try to fix it. That is at first
the Unit is simulated in the finite element environment and then the operational
inductances of the machine is achieved and the results will be validated. After that it has
been suggested that the important task of Turning Gear can be replaced by power
converters. For this purpose, in chapter six is spoken briefly about two converters names
inverters and cycloconverters. Finally, in chapter seven it is evaluated the operation of the
motor at different frequencies and voltages and interesting results have been obtained.

Keywords — power plant, synchronous generator, Turning Gear, Power converters, drive,
rotor balancing.
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